
Genetics & Heredity  

Day 2 



How does heredity work? 

• Genes have the information for a trait 
• You get 23 chromosomes from your 

mom 
• You get 23 chromosomes from your 

dad 
• Each of those chromosomes have 

genes, so you end up with at least 
TWO genes for each trait 

• The genes that your chromosomes 
actually have, whether expressed or 
not is called GENOTYPE 

• When a trait can actually be “seen” or 
expressed is called PHENOTYPE 

 

 



How does heredity work? 

Genes that have two or more possible 

phenotypes (ways that they show up) 

are called ALLELES (ah-leel) 

For example:  

If you can roll your tongue you HAVE 

the allele for “tongue rolling” 

If you can’t roll your tongue you 

DON’T have the allele for “tongue 

rolling”, you only have the allele for 

NOT ROLLING TONGUE 

 



How does heredity work? 

Example 1: 

Tongue Rolling  

You have two genes for tongue rolling 

One comes from mom and one comes 

from dad: 

 

 



How does heredity work? 

Example 1: 

Let’s say your dad gives you the 

“not rolling” gene but your mom 

gives you the “rolling” gene- you will 

be able to roll your tongue because 

the “rolling tongue” is DOMINANT. 

A dominant allele will always show 

up or be expressed in the 

PHENOTYPE 

The “not rolling” gene is 

RECESSIVE and only shows up if 

you got both those alleles from your 

parent… 

 

 



How does heredity work? 

Tongue Rolling 

Symbols: 

T= dominant trait, CAN roll 

tongue 

t= recessive, NOT rolling 

a)CAN ROLL TONGUE…that is 

your phenotype 

Your GENOTYPE could be TT or 

Tt 

b) CAN’T ROLL TONGUE…that is 

your phenotype 

Your GENOTYPE (for sure) is tt 



How does heredity work? 

Example 2: 

“Red Hair” 

Symbols: 

B= dominant trait, BROWN HAIR 

r= recessive, RED HAIR 

Mom has brown hair 

Dad has brown hair 

Daughter has “red hair” 

Daughter Genotype=  

MOM Genotype= 

DAD Genotype= 

 




